
 

GUARDRAIL SYSTEM 
 

 

 

 

 

 

 

 

 

Compatible with: 
 
 
 
 
 
 
 
 

 
Image may differ from original assembly 

 

 
 

 
Multi-Purpose scaffold 

(MPISU and MPISUS) 

Sold separately 



BOX COMPONENTS 
 

ID PART CODE DESCRIPTION QTY. 

A B50 DOOR RAIL 2X 

B B53 SIDE RAIL B 2X 

C B54 SIDE RAIL C 2X 

D D12 TOEBOARD EXTENSION 2X 

E T15 RAIL CONNECTOR 4X 

F H10 M10 x 1.25 x 30 mm 4X 
G J10 M8 x 1.25 x 20 mm 4X 

H H8 M8 x 1.25 x 35 mm 8X 

I H81 M10 X 1.25 4X 

J J11 M8 X 1.25 12X 
K Z22 TOGGLE PIN 4X 

 
 

A B C 

 

D E 

HARDWARE 
 

F G H I J K 

TOOLS NEEDED (NOT INCLUDED) 

 
 16mm 

13mm 



ASSEMBLY INSTRUCTIONS 
  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

REPEAT STEPS 1-4 WITH THE REMAINING COMPONENTS 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

BUILD FRAMES SCAFFOLD 
SOLD SEPARATELY 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 


